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Входной ШИМ-сигнал [%] TM
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d % = 100 x t/T

[%]
 5

> 5 /  8
> 8 /  15
> 15/90

> 90 /  100

T = 2  (500 ) U iH = 4-24 
t = 0 U iL  1 
d % = 100 x 0 / 2 = 30 % IiH  10 A (  U iH) 
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EEI ≤ 0,2

4 фиксированные скорости
вращения + управление ШИМ

Ручная разблокировка
без демонтажа

Температура
окружающей среды

•
•
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16

ИНДИКАЦИЯ ОШИБОК

Ротор заблокирован

Низкое входное напряжение

Электрическая ошибка

ШИМ =       

Питание =       TM
06

 5
81

9 
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16

•
•
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p
[кПа]

H
[м]

P1
[Вт]

Q [м3/ч]

Q [л/с]

Q [м3/ч]
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L1 L3

B1

1 1/1
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